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A #0.105297]
Faults (NC): [0.11507300, 3.8856668]

- Faults (PS): [0.11507300, 3.8856668]

- Faults (PC): [0.11507300, 3.8856668]

- Conditioned Data Range: [-0.0105989, 25.9908]
L Shot #: 3101, Param Tree: 72
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- Auctioneered Data (idl)

C Condjtioned Data (DCPS), Limits: [-24.000000, 1.5000000]

111

lllll

4 2 0 2 4 6

time
= Full Action (DCPS), Limit = 6390.0000, Max.=907.89963, End Val. 901.559403
E-Action (idl), Max = 901.557, End Val.= 901.557 =
E Full Action (idl), Limit = 6390.00, Max.=907.900, End Val. 901.557 g
E-Shot #: 3101, Param Tree: 72 =
-4 -2 0 2 4 6

time
E_IDL, Circular, [-0.0154131, 25.9929]
DCPS, Circular, [-0.015413121, 25.9929

Shot #: 3101, Param Tree: 72
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